



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{2} + \frac{1}{6}\right)^2 =$$

$$\left(4 - \frac{3}{4}\right)^2 - \frac{1}{6} - \frac{1}{2} \times 3^2 =$$

$$\left(\frac{3}{4} - \frac{2}{3}\right)^2 - \frac{1}{6}\left(\frac{2}{3} - \frac{1}{3}\right) =$$

$$\left(\frac{3}{4} + \left(\frac{2}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{5} + \frac{1}{3}\right)^2 =$$

$$\left(\frac{1}{2} + \left(\frac{1}{3}\right)^2\right) \times \frac{3}{4} + \left(\frac{1}{2} - \frac{3}{4}\right)^2 =$$

$$\left(\frac{1}{5} + \frac{1}{2}\right)^2 + \frac{2}{3}\left(\frac{1}{2} - \frac{1}{5}\right) =$$

$$\left(\frac{2}{5} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{3} - \frac{3}{5}\right)^2 =$$

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{3}{5} - \left(\frac{1}{5} - \frac{1}{2}\right)^2 =$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{1}{3} \times \frac{1}{2} + 4^2 =$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 =$$



Naam: _____

Datum: _____ Score: _____

$$\left(\frac{1}{3} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{5} - \left(\frac{1}{2} + \frac{1}{6}\right)^2 = \left(-\frac{77}{180}\right)$$

$$\left(4 - \frac{3}{4}\right)^2 - \frac{1}{6} - \frac{1}{2} \times 3^2 = \frac{283}{48} = 5\frac{43}{48}$$

$$\left(\frac{3}{4} - \frac{2}{3}\right)^2 - \frac{1}{6}\left(\frac{2}{3} - \frac{1}{3}\right) = \left(-\frac{7}{144}\right)$$

$$\left(\frac{3}{4} + \left(\frac{2}{5}\right)^2\right) \times \frac{1}{2} + \left(\frac{1}{5} + \frac{1}{3}\right)^2 = \frac{1331}{1800}$$

$$\left(\frac{1}{2} + \left(\frac{1}{3}\right)^2\right) \times \frac{3}{4} + \left(\frac{1}{2} - \frac{3}{4}\right)^2 = \frac{25}{48}$$

$$\left(\frac{1}{5} + \frac{1}{2}\right)^2 + \frac{2}{3}\left(\frac{1}{2} - \frac{1}{5}\right) = \frac{69}{100}$$

$$\left(\frac{2}{5} - \left(\frac{1}{2}\right)^2\right) \times \frac{1}{3} - \left(\frac{1}{3} - \frac{3}{5}\right)^2 = \left(-\frac{19}{900}\right)$$

$$\left(\frac{3}{4} + \left(\frac{1}{3}\right)^2\right) \times \frac{3}{5} - \left(\frac{1}{5} - \frac{1}{2}\right)^2 = \frac{32}{75}$$

$$\left(5 - \frac{1}{2}\right)^2 - \frac{1}{3} \times \frac{1}{2} + 4^2 = \frac{433}{12} = 36\frac{1}{12}$$

$$\left(\left(\frac{1}{2}\right)^2 - \frac{1}{2}\right) \times \frac{2}{3} + \left(\frac{1}{2} + \frac{1}{3}\right)^2 = \frac{19}{36}$$